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function main(insight) {
/1
var starlndex = 0; //0
var col Wdth = "150px"; //
var rowl ndex = 0; //020132...
nodi f yCol umW dt h(i nsi ght, starlndex, col Wdth, row ndex);
}
function nodi fyCol umW dt h(i nsi ght, starlndex, col Wdth, row ndex) {
var grid = insight.grid;
var maxCol = grid. getCol Count(); //
for (var m= starlndex; m< maxCol; mt+) {
var cell = grid.getCell(rowindex, m,; //
cell.style.width = col Wdth;
cell.firstChild.style.width = colWdth; //
/1305
try {
insight.elemtabl epanel .firstChild.firstChild.childNodes[n].style.width = col Wdth;
} catch (e) {}
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o FREUHICHENI G grid. getCell(m, celllndex);
o WHEF|F: cell.firstChild. style.width = colWidth;
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	透视分析如何设置列宽大小？

